City Trip Logic Puzzle

SUITCASE DESTINATION
(Level 1)
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Four friends are chatting about their plans for the Easter holidays. They
are all going on city trips to Europe with their families. Can you work out
who is going where, and what colour their suitcases are?
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Anya's suitcase is not red and Ruby's suitcase is not orange.

The person with a red suitcase is going to Prague, but it's not Hassan.
Neither Anya nor Ruby are going to Berlin.

Hassan is going to Rome. His suitcase is not orange.

The person with a yellow suitcase is going to Berlin.




SPOILER ALERT!

solution below
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Four friends are chatting about their plans for the Easter holidays. They
are all going on city trips to Europe with their families. Can you work out
who is going where, and what colour their suitcases are?

e Anya's suitcase is not red and Ruby's suitcase is not orange.
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The person with a red suitcase is going to Prague, but it's not Hassan.
Neither Anya nor Ruby are going to Berlin.
Hassan is going to Rome. His suitcase is not orange.
The person with a yellow suitcase is going to Berlin.




